



















Corre	elation co	efficient (r	r)
<b>x</b> :	Selftest y: tas	k 3 score	Z <sub>x</sub> Z <sub>y</sub>
	16	7.50	-0.38 -1.50
	24	79.00	0.53 1.07
	20	47.30	0.07 <b>-0</b> .07
	27	47.68	0.87 - <b>0</b> ,06
	29	66.25	1.10 0.61
	10	60.50	-1.07 0.40
	4	9.00	-1.75 -1.45
	25	76.84	0.64 0.99
Sum	155	394.07	
Mean SD n	19.38 8.78 8	49.26 27.85	$z = \frac{x - \overline{x}}{s} = \frac{16 - 19.38}{8.78} = -0.38$
IN4304 Empiric	al Research Methods Spring 2010,	Lecture 8	13
			<b>Ť</b> UDelft





Correlation coefficient (r)						
$\sum_{\mathbf{r}} \sum (z_x \times z_y) =$	x: Selftest	y: task 3 score	Z <sub>x</sub>	Zy	Z <sub>x</sub> *Zy	
$n = \frac{n}{n-1}$	16	7.50	-0.38	-1.50	0.58	
4 40	24	79.00	0.53	1.07	0.56	
$\frac{4.49}{} = 0.64$	20	47.30	0.07	-0.07	-0.01	
8-1	27	47.68	0.87	-0.06	-0.05	
	29	66.25	1.10	0.61	0.67	
	10	60.50	-1.07	0.40	-0.43	
	4	9.00	-1.75	-1.45	2.53	
	25	76.84	0.64	0.99	0.63	
Sum	155	394.07			4.49	
Mear	n 19.38	49.26				
IN4304 Empirical Research M	ethods Spring 2010, Lecture	8			16	
ž <b>ř</b> UDelft						





























S  fo	pearma or ordin Usability	n rank al data	<b>Corre</b> Ranking	Ranking	Difference between	cient	(r)
	rating, x	of use, y	Of X	or y	ranking, d		
	Very low	5	1	2.5	-1.5	2.25	
	Low	2	2.5	1	1.5	2.25	
	Low	5	2.5	2.5	0	0	
	average	8	4	4	0	0	
	high	12	6	5	1	1	
	high	13	6	6	0	0	
	high	20	6	8	-2	4	
	very high	15	8	7	1	1	
Total						10.5	
				$r = 1 - \frac{\epsilon}{n}$	$\frac{5\sum d^2}{\left(n^2 - 1\right)} = 1$	$-\frac{6\times 1}{8(8^2)}$	$\frac{0.5}{-1} = 0.875$
IN	4304 Empirical Resear	ch Methods Spring 201	0, Lecture 8				31
						τ <del>υ</del>	Delft























Simp	Simple Regression Model				
Table: Sel	f-test com	pleted and	d overall	Intercept	
X:	Y: task				
Selftest	3 score	ху	x <sup>2</sup>	$\sum y = \sum x$	
16	7.50	120.00	256.00	$a = -b \times -b \times -b$	
24	79.00	1896.00	576.00	n n	
20	47.30	946.00	400.00		
27	47.68	1287.36	729.00		
29	66.25	1921.25	841.00	_ 394.07 _ 022 155	
10	60.50	605.00	100.00	$= \frac{-2.033}{8}$	
4	9.00	36.00	16.00	0 0	
25	76.84	1921.00	625.00		
155	394.07	8732.61	3543.00	= 9.87	
IN4304 Empirical F	Research Methods Sp	oring 2010, Lecture 8	3	43	
				ŤUDelft	























Multiple Linear Regression – interpretation outcomes – Collenearity					
<ul> <li>Conceptual model</li> <li>Assumptions</li> <li>Interpretation outcome</li> <li>Model Selection</li> <li>Demo</li> </ul>	$\label{eq:constraint} \hline \begin{array}{c} \hline U_{max} \\ \hline \\ $				
IN4304 Empirical Research Meth	ods Spring 2010, Lecture 8 55				
	<b>Ť</b> UDelft				











